CHEMISTRY

BOOKS - UNITED BOOK HOUSE

SET-8

1. The coordination number of an atom in a fcc

crystal is.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bTRLAJjf1MZY

A. 12

B.8

C.6

D. 4

Answer:

° Watch Video Solution

2. The unit of specific conductance is.

A.S


https://dl.doubtnut.com/l/_bTRLAJjf1MZY
https://dl.doubtnut.com/l/_XB3PoYDVzuLf

B.Sm !

C.Sm 2

Answer:

o Watch Video Solution

3. Which one of the following forms a colloidal

solution in water?

A. NaCl


https://dl.doubtnut.com/l/_XB3PoYDVzuLf
https://dl.doubtnut.com/l/_PUqZjUL7mjq1

B. Glucose

C. Starch

D. BCLCZQ

Answer:

o Watch Video Solution

4. Which among the following has maximum

acidic character?

A. BiyOs


https://dl.doubtnut.com/l/_PUqZjUL7mjq1
https://dl.doubtnut.com/l/_Dne690ALccZz

B. P,Os

C. A8205

D. N,O:

Answer:

o Watch Video Solution

5. The actual configuration of Cr[At. No. 24] is.

A. [Ar]3d®*s 1

B. [Ar]3d**s”


https://dl.doubtnut.com/l/_Dne690ALccZz
https://dl.doubtnut.com/l/_AS28EBscseHk

C. [Kr]|3d°*S?

D. [Ar]3d*s’

Answer:

° Watch Video Solution

6. Among the following an

ligands is:

A.CN ™

B. NH,

ambidentate


https://dl.doubtnut.com/l/_AS28EBscseHk
https://dl.doubtnut.com/l/_GyEuGRPBbCzA

C.OH "~

D. H,O

Answer:

o Watch Video Solution

7.1n iodination of alkanes, iodic acid is used to:

A. Catalyse the reaction

B.remove HI by its reduction to prevent

reverse reaction


https://dl.doubtnut.com/l/_GyEuGRPBbCzA
https://dl.doubtnut.com/l/_Yl3AGQkZVLJ9

C. Oxidise HI to prevent reverse reaction

D. Liberate freel, necessary for iodination.

Answer:

o Watch Video Solution

8. Ethanol can be converted to ethyl ethanoate

by the action of.

A. acetaldehyde

B. acetone


https://dl.doubtnut.com/l/_Yl3AGQkZVLJ9
https://dl.doubtnut.com/l/_4dQMXob2lK6U

C. formic acid

D. acetic acid

Answer:

° Watch Video Solution

. In the

H,0

CH;MgI
HCOOCyHy; —— A —— BBis.

A. acetaldehyde

B. racetone

reaction


https://dl.doubtnut.com/l/_4dQMXob2lK6U
https://dl.doubtnut.com/l/_wqPARRHGxXgz

C. propanal

D. propanone

Answer:

° Watch Video Solution

10. Primary amines can be obtained by the

reduction of:

A. an amide

B. a nitrile


https://dl.doubtnut.com/l/_wqPARRHGxXgz
https://dl.doubtnut.com/l/_gCyO4SrgqE25

C. an aldoxime

D. all of these

Answer:

O Watch Video Solution

1. A mixture of glucose & water can be

separated by using.

A. (A)dzstillation

B. (B)C'rystallisation


https://dl.doubtnut.com/l/_gCyO4SrgqE25
https://dl.doubtnut.com/l/_PiiSRcQEwcQg

C. (Q)alcohol

D. (D)steamdistillation

Answer:

° Watch Video Solution

12. Among the following the cross-linked

polymer is.

A. Polythene

B. Glycogen


https://dl.doubtnut.com/l/_PiiSRcQEwcQg
https://dl.doubtnut.com/l/_yttGD90WeiDB

C. Nylon

D. bakelite

Answer:

° Watch Video Solution

13. Aspirin is an acetyl derivative of:

A. phenol

B. benzoic acid

C. ohydroxy benzoic acid


https://dl.doubtnut.com/l/_yttGD90WeiDB
https://dl.doubtnut.com/l/_Ec1Sz7uHvsyE

D. none of these

Answer:

o Watch Video Solution

14. Which one of the following is an antacid?

A. NCI,zCOg
B. K,COs
C.Ca(OH),

D. Mg(OH),


https://dl.doubtnut.com/l/_Ec1Sz7uHvsyE
https://dl.doubtnut.com/l/_MtuIbCu6y6aL

Answer:

o Watch Video Solution

15. What quantity of electricity infaraday is
required to produce 36 gm of Al from molten

alumina?

o Watch Video Solution

16. What is the difference between sol and gel?

| 8 l


https://dl.doubtnut.com/l/_MtuIbCu6y6aL
https://dl.doubtnut.com/l/_uFq8YbaU3aIZ
https://dl.doubtnut.com/l/_h1rmaPIBGUcB

17. Mention a practical application of Tyndall

effect.

° Watch Video Solution

18. Which one between Lu(OH), & La(OH),

is more basic?

o Watch Video Solution



https://dl.doubtnut.com/l/_h1rmaPIBGUcB
https://dl.doubtnut.com/l/_9UvX58KVPBhi
https://dl.doubtnut.com/l/_Oo59Bwytyw8h

19. Zn?" ion is colourless why?

o Watch Video Solution

20. What is antibiotic? Give example?

o Watch Video Solution

21. What is osmotic pressure? State one

application of reverse osmosis.

o Watch Video Solution



https://dl.doubtnut.com/l/_MGooRt4Go1Jg
https://dl.doubtnut.com/l/_PP7W0nE4jWcl
https://dl.doubtnut.com/l/_BWl6X88HAqA8

22. What is colligative property? Give example?

o Watch Video Solution

23. Write two differeneces between

physisorption and chemisorption.

o Watch Video Solution



https://dl.doubtnut.com/l/_BWl6X88HAqA8
https://dl.doubtnut.com/l/_Ld3FJr7XAtck
https://dl.doubtnut.com/l/_wJAGdHP56IgS

24. Mention the factors affecting Tyndall

effect.

o Watch Video Solution

25. Why does the PCly exist but NC5 does

not?

o Watch Video Solution

26. NHj; is stronger base than PH3 why?



https://dl.doubtnut.com/l/_yZlM2tsGweQM
https://dl.doubtnut.com/l/_FfJ00Z2BUwe9
https://dl.doubtnut.com/l/_0SfxPaBQYtJi

o Watch Video Solution

27.Why do transition elements have a greater

tendency to form co-ordinate compounds?

o Watch Video Solution

28. Explain free radial mechanism of

polymerisation with example.

o Watch Video Solution



https://dl.doubtnut.com/l/_0SfxPaBQYtJi
https://dl.doubtnut.com/l/_N6wsDFZi1ihM
https://dl.doubtnut.com/l/_FroAiIiXceEe
https://dl.doubtnut.com/l/_ccVfkpXIj5d5

29. What is sehottky defect?

o Watch Video Solution

30. Copper crystallises in face centred cubic
lattice. Calculate the number of unit cells in
1.20 gm of copper. [Atomic mass of Copper =

63.5]

° Watch Video Solution



https://dl.doubtnut.com/l/_ccVfkpXIj5d5
https://dl.doubtnut.com/l/_RqzvB3pn1cou

31. What is Frenkel Defect?

o Watch Video Solution

32. The density of a metal (atomic mass = 60.2)

with face centred cubic lattice is 6.25gmem ~ 3.

Calculate the edge length of the unit cell.

o Watch Video Solution

33. Define molal depression constant.



https://dl.doubtnut.com/l/_4pmhv7Fi1dLs
https://dl.doubtnut.com/l/_SxR5fdGLHQ0u
https://dl.doubtnut.com/l/_lNm1qvnylbpG

o Watch Video Solution

34. Ethylene glycol is used as antifreezing
agent to prevent the freezing of water in car
radiator in cold climate. Calculate the amount
of ethylene glycol to be added to 5 kg of water
to prevent it from freezing at —6° C. Given K

for water = 1.85kgmol 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_lNm1qvnylbpG
https://dl.doubtnut.com/l/_pK8bxEduoJJ7

35. State Raoult's law of relative lowering of

vapour pressure.

° Watch Video Solution

36. The vapour pressure of a solvent at 25°C
is 270 mm Hg. Calcualte the number of moles
of a non-volatile solute per mole of solvent
needed to get a solution with vapour pressure

170 mm Hg at 25° C.

° Watch Video Solution



https://dl.doubtnut.com/l/_IYkeqBXRit4s
https://dl.doubtnut.com/l/_0WuXp56OTcLd

37. State Kohlrausch's law.

° Watch Video Solution

38. Calculate the molar conductivity at infinite
dilution A,, of acetic acid. Given that A, of
HCl, NaCl & CH3COONa are 426, 126 and

910hm ~*em*mol ! respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_0WuXp56OTcLd
https://dl.doubtnut.com/l/_wMNYMPk7E6x5
https://dl.doubtnut.com/l/_LSrMX17nOwOk
https://dl.doubtnut.com/l/_6VVpu3eafI9o

39. Write the composition of electrolytes used
in the extraction of aluminium by electrolytic

process.

o Watch Video Solution

40. Write the chemical reactions occuring at

the two electrodes.

° Watch Video Solution



https://dl.doubtnut.com/l/_6VVpu3eafI9o
https://dl.doubtnut.com/l/_xbFWisnQCSqD

41. What is used as flux in the extraction of

iron from hematite?

o Watch Video Solution

42. Iron is not extracted from iron pyrites.

Explain the reason.

o Watch Video Solution

43. What is Lanthanide contraction?



https://dl.doubtnut.com/l/_zkfMJURT04mn
https://dl.doubtnut.com/l/_YSlRDfJzxnTN
https://dl.doubtnut.com/l/_OaRfixWyD24B

o Watch Video Solution

44, |dentify A, B, C, D.

Na Cl, Aq.NaOH 170°C
CHs3l — A > B s C >
Ether hv Conc.H2504

D

o Watch Video Solution

45, Write the structural formula of DDT.

o Watch Video Solution



https://dl.doubtnut.com/l/_OaRfixWyD24B
https://dl.doubtnut.com/l/_3XvOVZWBWzhn
https://dl.doubtnut.com/l/_1yxImuLD3kcg

46. How can you prepare 2° alcohol using

CH3;MgBr?

o Watch Video Solution

47.|dentify A

6—8% NaOH
350°C, 300 atm H*

° Watch Video Solution



https://dl.doubtnut.com/l/_LfQokBHRqngq
https://dl.doubtnut.com/l/_GWezM80T68zv

48, Carry out the conversion

FEthanal — Ethanol.

° Watch Video Solution

49, A first order reaction takes 100 minutes for
completion of 50 % of the reaction. Find the

time when 75 % of reaction will be completed.

° Watch Video Solution



https://dl.doubtnut.com/l/_qq0aJGlFDT7p
https://dl.doubtnut.com/l/_uXbSbfgi5xTb

50. Aliphatic primary amine is more basic than

aniline. Explain with reason.

o Watch Video Solution

51. Describe the reaction with example -

Gabriel's phthalimide Synthesis,.

o Watch Video Solution



https://dl.doubtnut.com/l/_hWjbtu7B2cd3
https://dl.doubtnut.com/l/_nRCbMUBERJ4V

52. Aniline is weaker base than ethylamine.

Explain the reason.

° Watch Video Solution

NH;3
53. CgHg,COOH T A, identify A

° Watch Video Solution

54.What is called peptide bond?

° Watch Video Solution



https://dl.doubtnut.com/l/_fjgaQb6lYGKH
https://dl.doubtnut.com/l/_8JEuzHj9qm3y
https://dl.doubtnut.com/l/_TQsXsNXn97gw

55. Explain the terms Nucleoside.

o Watch Video Solution

56. Explain the terms Nucleotide.

o Watch Video Solution

57. Explain the term: Rate constant of

reaction.



https://dl.doubtnut.com/l/_TQsXsNXn97gw
https://dl.doubtnut.com/l/_MM75dcikSeA5
https://dl.doubtnut.com/l/_rQSB8PaoSi8I
https://dl.doubtnut.com/l/_7UQcwhnobFAr

o Watch Video Solution

58. Explain the terms Activation energy of a

reaction.

° Watch Video Solution

59. The rate of a reaction increases four times
when the temperature changes from 300 K to

320 K. Calculate the energy of activation of the


https://dl.doubtnut.com/l/_7UQcwhnobFAr
https://dl.doubtnut.com/l/_2LkclHxZsuih
https://dl.doubtnut.com/l/_t93aPibHAt9d

reaction assuming that it does not change

with temperature.

° Watch Video Solution

60. Show on the basis of rate equation, that a
first order reaction does never go to

completion.

° Watch Video Solution



https://dl.doubtnut.com/l/_t93aPibHAt9d
https://dl.doubtnut.com/l/_7jMfKsTbq9tQ

61. Differentiate between molecularity and

order.

o Watch Video Solution

62. Let's add the following- (v) (-5) + (+9)

o Watch Video Solution

63. Explain the following.

XeF;, is a linear molecule.



https://dl.doubtnut.com/l/_uHJEIwrtZapN
https://dl.doubtnut.com/l/_mtH6SEMPe8MY
https://dl.doubtnut.com/l/_SmKrbQTtbWeb

o Watch Video Solution

64. Explain the following.
Fluorine is stronger oxidising agent than

chlorine.

o Watch Video Solution

65. Explain the following.
Interhalogen compounds are more reactive

than halogens.

| & I


https://dl.doubtnut.com/l/_SmKrbQTtbWeb
https://dl.doubtnut.com/l/_kwsNYFsBKwye
https://dl.doubtnut.com/l/_xXzOOX40OaWn

| ¥ Watch Video Solution

66. Explain the following.

ammonia is highly soluble in water

o Watch Video Solution

67. Draw the structures of H3 PO..

o Watch Video Solution



https://dl.doubtnut.com/l/_xXzOOX40OaWn
https://dl.doubtnut.com/l/_8GycTWDJAJvU
https://dl.doubtnut.com/l/_UJ2sGrgOuJ51

68. Write with equation what happens when?
Enthyl alcohol is heated with concentrate

H,50,4at180° C temperature.

o Watch Video Solution

69. NH,OH is added to aqueous solution of

CuSOy.

° Watch Video Solution



https://dl.doubtnut.com/l/_W2iUosewolgU
https://dl.doubtnut.com/l/_PdytqhIxaRwA

70. NaCl is heated with concentrated H,S50,

in presence of MnQOs,.

o Watch Video Solution

71. ldentify A
CyHy M gBr
06H5COCH3 H—O> A
2

o Watch Video Solution



https://dl.doubtnut.com/l/_bP4enLcOU9xr
https://dl.doubtnut.com/l/_ZuU8K6LOWf9X

72. Write suitable chemical test to distinguish
between the following

Benzaldehyde & acetaldehyde

o Watch Video Solution

73. Write suitable chemical test to distinguish
between the following

Formic acid & acetic acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_ftlhcYLzifLG
https://dl.doubtnut.com/l/_iedqKyaCDo50

